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B3 -2 BEYIHERTILEESNIERIBEIZEE1/2) _ _ TS R 6
SERONE | EmES 129B2045 BT \ iE1TH | FrTE i LFARER KAEHT 7R7E—TH
. SEMMOTIHICHEST ST SERHEA
ﬁ%&g TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE ==
’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 573 7158 #hList 1000 ~ 573| 1.74 8.80 ZnLst 1.00f 500 ~ 6.38 71.58| #hist | 500 ~ 6.38) 1.74 8.80
9 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 475 59.22| #h L4t |0.00 ~ 475| 2.17 10.96 ZnLst 1.00f 500 ~ 6.86 59.22| #h 4 | 500 ~ 6.86| 2.17 10.96
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 449 55.98| ZhList |0.00 ~ 449] 1.99 10.07 ZznLst 1.00f 500 ~ 528 55.98| #h st | 500 ~ 528 1.99 10.07
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.05 89.54| #h Ll 000 ~ 7.05 1.94 9.79 ZnLst 1.00f 500 ~ 949 89.54| #h st | 500 ~ 949| 194 9.79
5 100kN/mM#%#BZ % - &l ~ = -|3m%# 25| 000 ~ 0.13] 3.14 15.89| 100kN/mM%#B x5 - ol ~ = -|3m%#E 25| 10.00 ~ 10.90| 3.14 15.89
Zzh st 1.00{0.00 ~ 430 53.71| #h L4t 1013 ~ 430| 3.00 15.16 ZznLst 1.00f 5.00 ~ 10.90 53.71| #h st | 5.00 ~ 10.00f 3.00 15.16
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 546 68.18| Zn L4 |0.00 ~ 546| 2.95 14.92 ZznLst 1.00f 500 ~ 11.65 68.18| #h st | 500 ~ 11.65( 2.95 14.92
7 100kN/mM#%#BZ % 1.00({0.00 ~ 0.34 104.96|3m%#B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.83 ~ 11.74 104.96| 3m%EEZ 5 =l ~ - - -
Zzh st 1.00({034 ~ 8.12 100.00f Z# 14t | 000 ~ 8.12| 231 11.70 ZznLst 1.00f 500 ~ 10.83 100.00f #xist | 500 ~ 11.74 2.31 11.70
8 100kN/mM#%#BZ % 1.00{0.00 ~ 055 108.21|3m%E#B x5 = ~ - = —| 100kN/mM%#B 2% 1.00( 10.65 ~ 12.18 108.21|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{ 055 ~ 8.34 100.00f ZxLList | 000 ~ 8.34| 227 11.45 ZnLst 1.00f 500 ~ 10.65 100.00f ZxList | 500 ~ 12,18 2.27 11.45
9 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
zh st - = ~ - -| £hiist = ™~ - - - Zh st - = Kt - -| £hiis = K - - -
10 100kN/mM%#8 % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Thist SIS ~ B -l 'hLSN | -~ o - - Thust -l -~ - -| #hLis S ~ I -
11 | 100KN/mZEEZ S -l -~ = -[3mzBZH| - ~ - = —| 100kN/ %2 % - a ~ = -|3m&#EZ% .~ - - -
Thist SIS ~ B -l 'hESN | -~ o - - Thust - -~ - -| EhLs S ~ I -
12 100kN/ %2 % -l -~ = -[3mzBZH| - ~ - = —| 100kN/ %2 % - a ~ = -|3m&#EZS .~ - - -
Zzh st 1.00{0.00 ~ 5.90 7390 Zh L4t |0.00 ~ 590| 1.89 9.54 ZznLst 1.00f 500 ~ 6.98 73.90| #hist | 500 ~  6.98 1.89 9.54
13 100kN/m#E#BZ % -l -~ = —-|3m#ZEEZ5 -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEEZS ol ~ - - -
Zn Lot 1.00{0.00 ~ 5.26 65.55| £ L4t 1000 ~ 5.26] 2.02 10.23 ZznLst 1.00f 500 ~ 6.64 65.55| Zn st | 500 ~ 6.64] 2.02 10.23
14 100kN/m#E#BZ % -l -~ = —-|3mZEEZS -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEEZS ol ~ - - -
Zn Lot 1.00{0.00 ~ 5.18 64.56| Zn L4 |0.00 ~ 518| 1.63 8.25 ZznLst 1.00f 500 ~ 5.70 64.56] Zn st | 500 ~ 570 1.63 8.25
15 100kN/m#E#BZ % -l -~ = —-|3mZEBZ5 -~ = = —| 100kN/mM%#8 2% = -~ = —-|3mZEBZS ol ~ - - -
ZThESH 1.00/ 000 ~ 496 61.78] #nhblist | 000 ~ 496 1.81 9.14 ZhLs 1.00] 500 ~ 532 61.78] ZhbLis | 500 ~ 532| 1.81 9.14
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BRX3—2 BEWIERTILBESNOHREISHIZEE2/2) _ _ TS SR 165 FE
SERONE | EmES 129B2045 BT \ E1TH | FRTEME | EFAGRER KABHT 7R/E—TH
. SEMMOTIHICHEST ST SERHA
ﬁ%&g TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE ==
&5 X 4 .(sr,na; -Fiﬁﬁﬁ(z)mﬂﬁﬁﬁ jj(tfifn?)é X 4 'Finﬁgégg;kl .z.né; jj(gzlicn%é X 4 .(Er,na; J:Jﬁ'ﬁ?b(z)@ttlsl jj(gzlicn%é X 4 J:Jﬁﬁ?f)(z)@ttlsl 'Z]né){ t(ﬁa/t:ié
16 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - —| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 564 7043 ZhList 1000 ~ 564| 2.08 10.54 ZnLst 1.00f 500 ~ 7.79 7043 #hist | 500 ~ 7.79] 2.08 10.54
17 100kN/M%#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 6.70 84.56| #h Ll 000 ~ 6.70] 1.95 9.88 ZnLst 1.00f 500 ~ 8.84 84.56| #nLis | 500 ~ 8.84| 195 9.88
18 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.22 9190 ZhLis |0.00 ~ 7.22| 2.61 13.19 ZznLst 1.00f 500 ~ 11.90 9190 Zhlis | 500 ~ 1190 2.61 13.19
19 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 7.27 9257 #nList 1000 ~ 7.27| 2.60 13.16 ZnLst 1.00f 500 ~ 11.96 9257 #hist | 500 ~ 11.96] 2.60 13.16
20 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 6.89 87.26] #hList | 000 ~ 6.89| 1.67 8.44 ZznLst 1.00f 500 ~ 8.67 87.26] #hLis | 500 ~ 8.67| 1.67 8.44
21 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 6.38 80.21| #hLi4t 000 ~ 6.38| 1.61 8.12 ZznLst 1.00f 500 ~ 7.98 80.21| #h i | 500 ~ 7.98| 1.61 8.12
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~ |
=FE



